
Name: Date:
Class:Teacher:

Multiplication/Division 511
Where does a Snowman keep his money?  In a snowbank.

SOME of these have a remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

860 110 956 620 843

2 2 2 4 3

581 408 776 584 136

5 3 5 5 4

520 222 241 786 318

5 3 4 4 5

572 793 814 337 699

3 4 4 2 2

3 2 2 5 2

805 411 709 603 514

3 5 4 4 2

607 360 559 488 380

2 5 4 5 2

116 293 751 343 456

2 3 2 5 5

822 872 184 891 956

× × × × ×

× × × × ×

× × × × ×

× × × × ×
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Answer Key Date:
Class:Teacher:

Multiplication/Division 511
Where does a Snowman keep his money?  In a snowbank.

SOME of these have a remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

860 110 956 620 843

2 2 2 4 3

581 408 776 584 136

5 3 5 5 4

520 222 241 786 318

5 3 4 4 5

572 793 814 337 699

3 4 4 2 2

3 2 2 5 2

805 411 709 603 514

3 5 4 4 2

607 360 559 488 380

2 5 4 5 2

116 293 751 343 456

2 3 2 5 5

822 872 184 891 956

× × × × ×

× × × × ×

× × × × ×

× × × × ×

2,580 220 1,912 3,100 1,686
402 205 354 150 171

1,743 2,040 3,104 2,336 272
121 120 111 97 95

1,040 1,110 964 3,930 636
23 97 187 85 91

1,144 2,379 1,628 1,685 3,495
274 218 46 445 478

R1 R1 R1 R3 R1

R2 R0 R4 R3 R0

R1 R2 R3 R3 R1

R0 R0 R0 R1 R0
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